Termes Manquants (I)

Remplissez chacune des espaces ci-dessous avec le terme manquant approprié.

15 x =225 _ x 11 =176 16 x
14 x =224 _ x 16 = 240 X
X 12 =156 ~ x 14 = 168 X
19 x =342 19 x =36l X
13 x =208 ~ x 18 = 288 11
% 11 = 143 _ x 13 = 143 19 x
X 12 = 144 11 x =132 X

x 11 = 121 12 x = 180 x
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Termes Manquants (I) Solutions

Remplissez chacune des espaces ci-dessous avec le terme manquant approprié.

15 x 15 = 225 16 x 11 = 176 16 x
=15 =16 =
14 x 16 = 224 15 x 16 = 240 13 x
=16 =15 =
13 x 12 = 156 12 x 14 = 168 18 x
=13 =12 =
19 x 18 = 342 19 x 19 = 361 15 x
=18 =19 =
13 x 16 = 208 16 x 18 = 288 11 x
=16 =16 =
13 x 11 = 143 11 x 13 = 143 19 x
=13 =11 =
12 x 12 = 144 11 x 12 = 132 19 x
=12 =12 =
11 x 11 = 121 12 x 15 = 180 19 x
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